Theme 1 – Market Failure - Externalities





               Externality diagrams
Externalities occur when third parties are affected by the actions of others. There are 2 types of externality.
Negative externality
=   Marginal Social Cost is greater than Marginal Private Cost

Positive externality
=
1. Oil refinery contaminates local water supply. 
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2. A new services offer rehabilitation to alcoholics, drug users and gambling addicts.






3. A new textiles factor is resulting in the release of a large amount of CO2 emissions


4. You turn up at the doctors and receive your flu vaccination, which covers you for this winter’s most prominent strains.


Mr Wilson’s Thinking Further Challenge… 
1) How might the government seek to achieve the socially optimum level of output? 
2) Other than positive consumption and negative production, what other kinds of externalities could you think of?
What type of externality is it?




















Is the socially optimal level higher or lower than the present level of consumption/production?
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